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Problem quickname: 1454

1)
Calculate the result.

a) 4.22 = 4 b) 3.15 4 ¢) 6.49 = 2 d)8.81+4 ¢) 8.56 = 9
£)3.72 =6 g) 10.26 + 7 h) 351+ 5 i) 8.44 + 2 i) 7.63+2

2)

Calculate the result.

a) 0.007 + 2 b) 0.005 =9 c) 0.001 + 14 d) 0.006 = 3
e) 0.008 = 15 f) 0.001 + 16 g) 0.003 + 19 h) 0.008 = 3
i) 0.007 =15 j) 0.008 +1

3)

Calculate the result.

a) 0.0069 + 20 b) 0.0097 + 17 ¢) 0.0015 + 1 d) 0.0039 =+ 4
e) 0.0034 = 3 £) 0.0065 = 8 g) 0.0028 = 3 h) 0.0019 + 19
i) 0.0012 = 3 i) 0.0056 = 9

4)

Calculate the result.

a) 58.16 + 17 b) 61.78 = 35 ¢) 68.16 + 9 d) 65.63 = 68
¢) 21.93 = 86 £) 69.28 + 3 g) 86.62 = 2 h) 26.74 + 87
i) 33.77+9 j) 67.14 + 31

Good Luck!
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